
Subject: Re: PP 2A3/6B4G anybody?
Posted by Damir on Thu, 24 Nov 2005 17:01:53 GMT
View Forum Message <> Reply to Message

Quick "analise" gives Raa ~ 2*(Ugk*µ/Ia - rp) ~ 8kOhms, for OP 300V/50mA/-60V.Theoretical
Pout ~ Paa = Ia^2*Raa = 0,035^2*8000 = 10W, orUa=Ugk*µ/(1+2rp/Raa) =
42,4*4/(1+1600/8000)=141,4Vrms, and thenPout ~ Paa = Uaa^2/Raa = 282,8^2/8000 = 10WBut,
realistically, (losses, distortion) - Pout ~ 8W

Page 1 of 1 ---- Generated from AudioRoundTable.com

https://audioroundtable.com/forum/index.php?t=usrinfo&id=127
https://audioroundtable.com/forum/index.php?t=rview&th=5967&goto=31473#msg_31473
https://audioroundtable.com/forum/index.php?t=post&reply_to=31473
https://audioroundtable.com/forum/index.php

